Related Facts

Boris the builder is building a wall with a length of 17 bricks. He uses grey and brown
bricks.

/[ | used 14 brown bricks and 3 grey bricks. ]
JTE 14 3 =17
’ f - 3 + 14 = 17

17 - 3 = 14
17 - 14 = 3
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Explore other combinations of brown and grey bricks that Boris could use to build the
wall. Find 3 possible combinations. Complete the related facts for each possibility.

There are brown bricks. There are brown bricks.
There are grey bricks. There are grey bricks.
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There are brown bricks.
There are grey bricks.
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